Geolog 3
w
s ) (Scale: 5":100' (10")) 2
MEWID SERVIOERS, LI =
Company: GRENADIER ENERGY PARTNERS, LLC State: WEST VIRGINIA W
Well: KENNETH SHREVE 1H County: WETZEL m
Field: SHREVE, KENNETH & SONDRA Country: USA w.
Well ID: 47-103-02557 m
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Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5 ! Vi T,
293
Tool SIN IDF17-03 IDF17-03 vaw
Cal Factor 6.25 6.25
Gamma Offset 36' 36' ¥
©
Start Depth 6,925 8,005 =
Start Date 08/02/2010 08/06/2010 W m
Start Time 0630 HRS 1900 HRS m
End Depth 8,005 11,763 m
End Date 08/06/2010 08/12/2010 m
End Time 1730 HRS 1800 HRS 0o |
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#2 MD:6961.0 TVD:6960.6 1:0.6 A:122.5VS:23.5

#3 MD:7024.0 TVD:7023.6 1:0.3 A:135.9VS:23.0

#4 MD:7055.0 TVD:7054.6 1:12.0 A:302.6 VS:23.5

#5 MD:7086.0 TVD:7085.51:5.2 A:307.5VS:25.4

#6 MD:7118.0 TVD:7117.31:8.8 A:310.2VS:29.3

#7 MD:7149.0 TVD:7147.8 1:111.7 A:311.0 VS:34.8




#8 MD:7181.0 TVD:7178.9 1:114.7 A:313.1 VS:42.1

#9 MD:7212.0 TVD:7208.7 1:117.4 A:314.7 VS:50.6

#10 MD:7244.0 TVD:7238.91:20.9 A:314.5 VS:61.1

#11 MD:7275.0 TVD:7267.6 1:24.2 A:314.6 VS:73.0

#12 MD:7306.0 TVD:7295.6 1:26.7 A:312.6 VS5:86.3

#13 MD:7338.0 TVD:7323.91:29.0 A:314.5VS:101.3

#14 MD:7369.0 TVD:7350.7 1:31.3 A:316.8 V5:116.8
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#21 MD:7588.0 TVD:7510.3 1:55.7 A:314.5V5:264.2
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